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B BACKGROUNI: A 2.78 acre paurcel of [1l)ed tide and sulingrged
A land in the San Gabriel River was leased to
A the San Gabriel River Improvement Company as
. , part of a boundary line agreement in April 15, ,
. , 1970.  The lease required a reassessment of the ,

Sl renptal provisions af each 40th anniversary,
S When the fiew renial was presenteéd to San Gahriel
-+ TR they elected to termindte the lease. They have

. [N, submpitted a quitcain deed which is being
‘*Li'l o presented for your aceceptance as another calendar
R item. ‘ '

(o Ui PRESENT SITUATION: ‘ : R
Voo The parcel is presently vacant., Recauge of the

L high value of the property .the stuff feels that

e ot  efforts should be made o seek out potential

L x developers s¢ that the land can be made productive

) . T ‘ aid the State can benefit from the remtal potential

RN SR af $30,000 morg or less annually. A
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. ’ - The stvalf pequests awthority to take all s.teps

§ S ' necessary ‘to find a potential developer including
the placement of advertisements in local and
AT o v, evade pubfichatvions, S L
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S C No comnttments to a potentinl Jevelopdy will be
‘ made without the priov consent of the Commission.

o IT IS RECCOMMENDED THAT THE COMMISSION AUTHORELL THL STAFF OF

N \ PHE PIVISION TO TAKE LL STEPS NEULSSARY, INCLUDING THL PLACE-
- ' MINT OF ADVERTTSEMEN1S, TO FIND A DEVELOPER FOR [HL COMMISSION'S
. PROPERTY AT THE SAN GABRITL RIVIR IN THL CI1Y OF SEAL BLACH

" WITH HE UNDERSTANDING THAT NO DEVELOPMENT WILL BE APPROVED
o KITHOUT THE CONSENT OF LHE COMMIwSION.
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